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1) What does  ����  signify in the following line from the 
couplet? : 

 

��� 	
	��
�� �������� �����	���  
 

 

_________________________________ 

 

 

2) Write the meanings of  ����  which we learnt in the lesson. 
 

 

a)  ________________________________ 

 

 

    b)  ________________________________ 
 
 

 

 

 

 

 

 

 

 

3) Why is the word 	
	��
��  manSuub? 
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Poetry  

Lesson 5 

 

DrVaniya.com 

Worksheet 

  

�����
�� 
 



 2

4) ��� 	
	��
�� �������� �����	���... : 
 

��������  is marfuu”. What is its  �������� ��	���	 ? 
 

 

___________________________ 

 

 

5) �	���!��� is also marfuu”. What is its  �������� ��	���	 ? 
 
____________________ 
 

 
6) Are the following qualities true         or false         regarding 

the noun �	���!��� ? : 
 

 

a) �	���!���   is    #$�%�&	� '(�)�. 
 

b) �	���!���   is  '*	����� '(�)�. 
 

c) �	���!���   is  '�+�,�-	� '(�)�. 
 

d)  �	���!���  is  '.+�-�%	� '(�)� 
 

 

� � 
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7) What or whom does the pronoun !�/  refer to in:   
 

 

 

 

  ?��� 	
	��
�� �������� �����	��� 	0�1�	2���3 4'5!�6	7 
 
 
 

 

______________________________ 

 

 

8) Both of the following sentences start with a waaw :  
 
 

 

 

 ...	0�3�1�	2��4'5!�6!	7  
	0�� �8�9	:�;+����	� �<�,9�=  

 

 

 

a) Which sentence starts with �>?	@��� �0�	0 ? 
 

b) Which sentence starts with �A�B	���� �0�	0 ?  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

____________________________________ :  �>?	@��� �0�	0  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

_____________________________________ : �A�B	���� �0�	0 
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9)  ... �� �8�9	:	0�;+����	� �<�,9�=  : 
 
 
 
 

The word   �;+����	�   is originally with tanwiin :     ';+����	� . 
 

 

 

Why is tanwiin omitted from it in the couplet?   
 

 

 

 

 

 

(We learnt this in Poetry lesson 2.)  

 

 

 

_______________________________________________ 

  

 

10) What is the meaning of  '8�9	:  in   

 

a) Classical Arabic, and  

 
b) Modern Arabic? 

 

 

a) ______________________ 

 
 
 
b) ______________________ 
 
 
 

 

                         What is the     �C%!�D�� (dual ) of the noun ��!�E�   
 

 

 

 

                         (We learnt this in Q & As) 
 

Challenge 
? 

DrVaniya.com 



 5

 

Answers 
 
 

 

1) What does  ����  signify in the following line from the 
couplet? : 

 

��� 	
	��
�� �������� �����	���  
 
 
 
 
 
 
 
 
 
 
 
 

 

�-�����F9�6 , rarity or paucity.  
 
 
 
 
 
 
 
 
 
 
 

 

2) Write the meanings of  ����  which we learnt in the lesson. 
 

 

a)  �>?	=���G�H�	0 IJ�
�� , doubt or possibility. 
 

    b)  �F9�6�-����, rarity or paucity. 
 

 

3) Why is the word 	
	��
��  manSuub? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

	������K L>+�<!�� ! »��������«.  
 
 

 

DrVaniya.com 



 6

4) ��� 	
	��
�� �������� �����	���... : 
 

��������  is marfuu”. What is its  �������� ��	���	 ? 
 

 

 

 

 

 

 

�3���7M N LO	��/?�P L��=	Q.  
 

 

 
 
 
 
 
 
 
 
 
 
 

 

5) �	���!��� is also marfuu”. What is its  �������� ��	���	 ? 
 
 
 
 
 
 
 
 
 
 

 L��=	QLO	����-�� �A��RS� ��6	 .  
 

 
6) Are the following qualities true         or false         regarding 

the noun �	���!��� ? : 
 

 

a) �	���!���   is    #$�%�&	� '(�)�. 
 

b) �	���!���   is  '*	����� '(�)�. 
 

c) �	���!���   is  '�+�,�-	� '(�)�. 
 

d)  �	���!���  is  '.+�-�%	� '(�)� 
 
 

� � 

� 

� 

� 

� 

DrVaniya.com 



 7

7) What or whom does the pronoun !�/  refer to in:   
 

 

 

 

  ?��� 	
	��
�� �������� �����	��� 	0�1�	2���34'5!�6	7  
 
 

 

 

 ��6	  �2+��	� TU?	V���»�	������«.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

8) Both of the following sentences start with a waaw :  
 
 

 

 

 ...	0�3�1�	2��4'5!�6!	7  
	0�� �8�9	:�;+����	� �<�,9�=  

 

 

 

a) Which sentence starts with  �>?	@��� �0�	0 ? 
 
 

	0�3�1�	2��4'5!�6!	7   
 

b) Which sentence starts with �A�B	���� �0�	0 ?  
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9)  ... 	:	0�� �8�9�;+����	� �<�,9�=  : 
 
 
 
 

The word   �;+����	�   is originally with tanwiin :     ';+����	� . 
 

 

 

Why is tanwiin omitted from it in the couplet?   
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Tanwiin is omitted for reasons of prosody. 
 

 

 

 

 

 

 

 

 

 

 

 

 

10) What is the meaning of  '8�9	:  in   

 

a) Classical Arabic: Bosom opening of a robe or shirt. 

 
b) Modern Arabic: Pocket. 

 

 

 

 

                         What is the     �C%!�D�� (dual ) of the noun ��!�E�   

 
 

 

 

 

 

�W?	9!	�!�� 
 

 

 

 

 

 

See  Q 35 ��+�,�-	=��� ��!	9!�%!�D!	X  Dual of the maqSuur noun. 
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